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INSTRUCTIONS

· Answer all questions in the paper.

Questions (50 Marks)
1. The diagram below represents gaseous exchange in fish.
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a)
Name the parts labeled W, Y







(2marks)



W ……………………………………………………



Y …………………………………………………….


b) 
Where in a fish would you find the above system




(1mark)

b)
How does the above system facilitate efficient exchange of gases?


(3marks)
2. a) Distinguish between haemagglutination and blood clotting                                                  (2 marks)

3.  A student placed a drop of pond water in a cavity slide and observed it under the microscope. The student observed many fast moving organisms, one of which is represented in the diagram below.


(a) (i) Name the phylum to which the organism belongs





(1mark)
                  ………………………………………………………..
(ii) Give a reason for your answer in (a) (i) above





(1mark)
(b) Name the structures labelled 








(2marks)
N……………………………………….
P ………………………………………..
(c) State two observable features that enable the organism to move fast.


(2marks)
…………………………………………………………………………………………………………….

4. The diagram below represents a section though a human tooth


(a) (i) 
Name the type of tooth shown







( 1 mark)

………………………………………………….
     (ii)
Give a reason for your answer in (a) (i) above





( 1 mark)

……………………………………………………………………………………….
(b) State the functions of the structures found in part labeled J




( 1 mark)

            ………………………………………………………………………………….…….
   5) Differentiate between active and passive immunity                                                                      (2 marks)

   c) Give two reasons as to why clotting of blood is important                                                           (2 marks)

    d) Name two enzymes and one metal ion that are required in the blood clotting process              (3 marks)

6. The diagrams below show a red blood cell that was subjected to a certain  Treatment



At start





At the end of experiment

(a)
Account for shape of the cell at the end of the experiment



( 2 marks)

(b)
Draw a diagram to illustrate how a plant cell would appear if subjected to 

the same treatment








( 1 mark)

7. What characteristics do mammalian lungs and the gills of a bony fish have in common that enables them to exchange gases effectively                                                                                                                (4 marks)
8. People living in high altitudes have a higher red blood cell count and more haemoglobin than people living in low altitude areas. Suggest a reason for these adaptation                                                                 (2marks)
9. List three structures used for gaseous exchange in land plants                                                       (3marks)

10. a) Define the term Photosynthesis                                                                                                (2marks)

      b) State how the chloroplast is structurally adapted to its function                                       (2 marks)  

11. The enzyme pepsin and trypsin are secreted as inactive precursor:

       a) What are the names of the precursors                                                                                     (2 marks)  

       b) Why are they secreted in an inactive form                                                                             (2 marks)

12. A patient whose blood group is A died shortly after receiving blood from a person of Blood group B.

      Explain the possible cause of death of the patient                                                                       (2 marks)

13. The open circulatory system is said to be less efficient than the closed system. Explain why insects are very active despite having an open circulatory system                                                                      (2 marks)
14. Explain why a fish has to pass large amounts of water continuously over its gills during gaseous exchange                                                                                                                                             (2 marks) 


                                                      Merry Christmas and happy 2015
( Remember to revise well for tune up Exams 2015.Carry enough revision materials)
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